HiFiBP o EREY
ROBPHRPRE Z

¢ ERRI05E & Bt ard A
%ms gz |1123170900 -1123170909 a AN = WD B
‘m:!’i’sﬁnﬁi g*gi:—jg”;ﬁx _E [’yj%\fﬁqux 1? 4’ 12| ARy#H = ;?;iq J/ %E T
R » T8 12 H 28
R oG - «;%gﬁf T30 2 B P
fr;ﬂ&ﬁkdfﬁg g B  b (1 2 I l Al 5 27305 [
i U AT ik % e -
4 1 5 e
F|#E| B | & 4 i £ % H 28
1100000000
7 E s 12
1123170000
114 iﬁl‘%ﬁv’ﬁ”r’éﬁ’ 12
1123170900
1 PR 12
1123170909
2 | E PR 12 ¢E@§E§T’§? |’>Fa'“'éffﬂ’5‘“’ﬁ’ G é’?iﬁ‘ﬂﬁi"iﬁ%ﬂﬁﬁﬁfwfﬁ &

AT ORI i R




B F B E P
pud ERE S L LT e

EFMPE v 3 ®10bE A B 3rd W+
1 d FAER S 3523174100 L TE A 3,400
FARA ”EHFJ*?%%
=izt rf@kf FLA ST S PR R - 1. (ST EHTERES - FIHEOER Y J:Eﬁ =220
2 B JJfﬁkﬁ rﬁ —‘}‘I —jk:fg\l JYKE f&%@ 2_%%]&% NASES ?W[E. R VR 12 ﬂjrggélwﬂn%‘*
G RNES a4 =gy S %ﬁm °

SIBLL 5P PR L - b 2
4 A~ SR S P T

5.5p| ‘—fl ‘Jip RIS (R BRI TER

i
AAFEE g HE &9 R # o
01 * FIAER] 3,184 (WA Vi WIRETT | 4 a4 5 LA S 3,184 R 0 H
0100 *iy¥ 3,184 | T PHIF /L
. 1.3 VERSEY, 0797 7 > [F3RE4 ~
0103 ,\Lfﬁfu FE 2,079 ;’r il FAR 32,079 B
2~ UIRGET
e, i
177
0104 75H{E ~ £l fﬁzﬁ 452 2 AR E @j‘iﬂﬁzjﬁ e NN
0111 #4.& 417 g o
0121 H = 32 3IGEATTR o TS WAL (S
0131 ==y 32 =
‘ 4.H PSR R o D -
0143 EiFEEHFE 172 j o ,
b= [Fa S.JJD?EI,@IF%IJ'SZIW , I;j\ ﬁ‘igi’[pﬁ:ﬁ"" .
6. R EERFELS 1727 7 ’l,,IﬁEf%& EY T
ALV A R~ EERREE
02 LA 75 [EER 202 W1 D W |4 G L ﬁﬁ[bzozfﬁ CHP R
0200 ¥ ¥5qY 202 | EEF B
TR0 T o A D W 1 AT
0241 ST 36 LABIGTT - FREDPEE 7
B .
0271 ATHJ’:FI#I 105 7. 5}@%105—1’71 , E[erﬁ :
0279~ AEAVET 51 (1)~ A P 5ot < ARSI 80
0282 55 H TR 6 TR
0283 FIH M B 5 5 7t 4 (2)Z R IEBES B 2 B RIRE905 T 7 -
3. ST R W
(DY RIFAIS T > FIT 4% >
#0007 ZH5] -
(2){%1%&?» l;]ﬁ';ﬁwnfﬁ o
(3L [@%ﬁ HiZDs4" 7 o BN
Mo BN EF3 5007 FH) e
<4>ﬁiﬁﬁfmm SR8 -
SRR 6T R
5. ﬁlﬁﬁwﬁfﬁé'%%auf (B R
g HRSE S o B N B E ] 0487 FH




SRRV S ERALE K Wi g R
1 h LR M 3523174100 LR AT 3 400
I ol ikl T &4 A prE 5 .
05 BRERfL ~ BHR s 14 (WA D W |4 R RIS R
0200 ¥ ¥4 14 [FPEE] (RN
0279 — &Y 14 Ly phgfe2- -

2. P FIE SRR




H §BP S &R
LAFT RV
¢ ®105E B i ard Rt A
1iErE LALE 3523174100
Bo v Z B B B ¢ ¥
PR LA

i at 3,400 3,400
0100 * Hi{" 3,184 3,184
0103 = J@Tﬁﬁjﬂ e 2,079 2,079
0104 74T * £1 743 452 452
0111242 417 417
0121 3 P 32 32
0131 =i A 32 32
0143 324 (R B & 172 172
0200 %5554 216 216
0241 45 36 36
0271 i 105 105
0279 — HEe i 65 65
0282 /' g SfE e 6 6
0283 FIfy B By 2 4 4




AT

%

5 E B

A H1054 B i 34 %F~
x S ¥ gl & i e i
- SRR -
S LT -
B = R 2,079
P ST S EY S 452
SO Bl Rt 2 -
4148 417
s 32
I b 32| ARG = -
Ju A EBAG -
4 A EERRES 172
4= Wl -
12 - g -
& 3t 3,184




AR
(i E’ A i« i
) F T ¥ % [ 2 ¥ [m§ [1 % [ %1% =
A |38 S # rER |2 ER | AER |2 ER |rERp ERrERD ERlAERD ER|AERD ER|AER] £ R
0023000000
12 ERETIEN 4 4 - - - - - - . . .
0023170000
5 O 4 - - - - - - - . .
3523174100
4 - - - - - - - - - -

Ao




5 B

P 4
105% & =R r Sl
X ) - E4 = %
b2 5 K Bk g £ =% 3
Lk BUER | f ERlr &R |v m - F
AER|VERB|AER P ER|AER|VER|AER | ER
- J - - - . 4 4 3,152 3,166 -14
) L e ; 4 4 3,152 3,166 -14
] N R ; - 4 4 3,152 3,166 -14




